DMG = ((ATK pase)(1 + ATKg) + ATK 100) X (14 DMG Bonus) % (1+(CR)*(C D))
(1)

{CR,CDY} «— {100%, (CR)(CD)} 2)

f(z,y,2) = (1000 (14-0.466-+0.058x)+311) x (1+(0.361+0.039y) x (0.5+0.0782))
(3)

B=z+y+=z (4)

1. Define g(x,y,z) by "moving” all terms of the constraint equation to one
side. Le. g(x,y,2) =x+y + z- 38

2. Define the Lagrangian function L£(x,y, 2z, A\) = f(x,y, 2) + Ag(x,y, 2)

L(x,y,2,A\) = (1000 x (1+0.466 +0.058z) +311) x (1 + (0.361 +0.039y) x
(0.5+0.0782)) 4+ Az +y + 2 — 38)

3. Calculate the gradient of the Lagrangian VL (z,y, 2, \) = (%, %, %, %)

conten (5)
4. Construct a system of equations by setting VL(x,y,2z,A) =0

oL oL oL oL
o =0 55_0 5. =0 5 =0 (6)



